120: s@(c:)) AAAVNA NI S5 —
T up

e issued: 2021-01-18
o N : A VYT ILI— KM fail

e status: Open

Bz

ZZ* @ showLitChar #% > TZ &5 & U T, protestEsc IZH 2k THl > hh > /=,
UFZ2a3V814I L &S5 2T 5L, Rename.hs D removelnfix TTZ—9 3,

cont p s@(c:_) | pc="\\&" ++ s

cont p s =s
fc=c>"’0" && c <=9’

main = do putStrLn $ cont f "abc"

putStrln $ cont f "123"
TT—AYE—VIIBTRDEY :

$ bunny testrun cont.hs
/home/unno/bunny/0.9.0/bin/bunnyc -d ./jout/cont --xno-implicit-prelude /home/unno/bunny/0.9.0/1ib/P
/home/unno/bunny/0.9.0/bin/bunnyc -d ./jout/cont --xlibrary-path /home/unno/bunny/0.9.0/1lib cont.hs
bunnyc: removeInfix :AsPat (Name {origName = "s", namePos = (1,8), isConName = False}) (ParExp (Infi
CallStack (from HasCallStack):

error, called at src/Rename.hs:135:21 in main:Rename
CallStack (from -prof):

Rename.scanDecls.removeInfix (src/Rename.hs:(108,5)-(135,53))

Rename.scanDecls.scanValueDecl2 (src/Rename.hs:(39,5)-(93,33))

Rename.scanDecls (src/Rename.hs:(28,1)-(326,63))

Semant.renProg (src/Semant.hs:(21,1)-(52,11))

Main.doCompile. (...) (app/Main.hs:83:7-70)

Main.doCompile (app/Main.hs:(77,1)-(114,33))

*1 https://www.sampou.org/haskell/report-revised-j/char.html



Main.main (app/Main.hs:(117,1)-(132,42))

testrun: failed to compile cont.hs

AEOY
2021-01-18 (Mon)

removelnfix & renPat ZNFUIDWT, As Pattern (ZH6d B U %28 7~ -

$ git diff

diff --git a/compiler/src/Rename.hs b/compiler/src/Rename.hs
index ba4el121..da90d57 100644

--- a/compiler/src/Rename.hs

+++ b/compiler/src/Rename.hs

@@ -132,6 +132,9 @@ scanDecls ds = do

removeInfix eQ@(A.ListExp es) = removeInfix $ expandList es

+ removeInfix (A.AsPat n e) = do e’ <- removelnfix e
+ return (A.AsPat n e’)
+

removeInfix e = error $ "removelnfix :" ++ show e

scandecl (A.VDecl d@(A.ValDecl e _))
@@ -801,6 +804,9 @@ renPat (A.ListExp es)

do return ([d]l, [1, [1)

renPat $ expandList es

renPat A.WildcardPat = return PWildcard

+renPat (A.AsPat n e) = do p <- renPat e

+ return (PAs (origName n) p)

+

renPat e = error $§ "renPat: " ++ show e

25958, WHNDURITEAZL WS ZEEEESIN, 5T T - B>/

$ ~/prj/bunny/compiler/bin/bunny tcompile --ddump-assump cont.hs
/home/unno/prj/bunny/compiler/bin/bunnyc -d ./jout/cont --xno-implicit-prelude /home/unno/prj/bunny/



/home/unno/prj/bunny/compiler/bin/bunnyc -d ./jout/cont --xlibrary-path /home/unno/prj/bunny/compile
implicitPrelude ... done.
doCompile ... Debugging dump of assumptions (results of the type inference).
bunnyc: gname not found: "s"
CallStack (from HasCallStack):

error, called at src/RenUtil.hs:190:23 in main:RenUtil
CallStack (from -prof):

RenUtil.qname (src/RenUtil.hs:(188,1)-(190,72))

Rename.renExp (src/Rename.hs:(868,1)-(1031,66))

Rename.renRhs (src/Rename.hs:(817,1)-(842,52))

Rename.renDecls.renDecl (src/Rename.hs: (638,5)-(652,50))

Rename.renDecls (src/Rename.hs:(590,1)-(652,50))

Semant .renProg (src/Semant.hs:(21,1)-(52,11))

Main.doCompile. (...) (app/Main.hs:83:7-70)

Main.doCompile (app/Main.hs:(77,1)-(114,33))

Main.main (app/Main.hs:(117,1)-(132,42))

tcompile: failed to compile cont.hs

make check IZ@ES5D T, Wo7-AZZ EFTT commit LTHL,
BB, TOBRIE lib/Preludehs 2 FNWTWBH L XKDV THE EFDUIT U TOERR, ] 2T A
-- todo: xs@(x:xs’) WO I AYVRIPE-S>TWD,

2021-10-21 (Thu)

ExiR T UL

$ cat t120.hs
cont p s@(c:_) | pc="\\&" ++ s

cont p s =s
fc=c>"’0" && c <=9’

main = do putStrLn $ cont f "abc"

putStrln $ cont £ "123"

unno@unno-FMVD70GN7G ~/work/bissues/120
$ runhaskell t120.hs

abc

\&123



unno@unno-FMVD70GN7G ~/work/bissues/120
$ ~/prj/bunny/compiler/bin/bunny testrun t120.hs
/home/unno/prj/bunny/compiler/bin/bunnyc -d ./jout/t120 --xno-implicit-prelude /home/unno/prj/bunny/
/home/unno/prj/bunny/compiler/bin/bunnyc -d ./jout/t120 --xlibrary-path /home/unno/prj/bunny/compile
bunnyc: gname not found: "s"
CallStack (from HasCallStack):
error, called at src/RenUtil.hs:192:23 in main:RenUtil
CallStack (from -prof):
RenUtil.qgname (src/RenUtil.hs:(190,1)-(192,72))
Rename.renExp (src/Rename.hs:(861,1)-(1024,66))
Rename.renRhs (src/Rename.hs: (810,1)-(835,52))
Rename.renDecls.renDecl (src/Rename.hs:(631,5)-(645,50))
Rename.renDecls (src/Rename.hs:(583,1)-(645,50))
Semant.renProg (src/Semant.hs:(21,1)-(52,11))
Main.doCompile. (...) (app/Main.hs:83:7-70)
Main.doCompile (app/Main.hs:(77,1)-(114,33))
Main.main (app/Main.hs:(117,1)-(132,42))
testrun: failed to compile t120.hs

2021-11-03 (Wed)

gname not found £ 2> T3 Z 05 HE% DI, renPat (VarPat n) {2725 > T, renPat (AsPat n e)
IZHWTE renaveVar §5 LD ITBIEL A ¢

$ git diff

diff --git a/compiler/src/Rename.hs b/compiler/src/Rename.hs

index 0291016..a8ac938 100644

--- a/compiler/src/Rename.hs

+++ b/compiler/src/Rename.hs

@@ -798,7 +798,8 @@ renPat (A.ListExp es) = renPat $ expandList es
renPat A.WildcardPat = return PWildcard

renPat (A.AsPat n e) = do p <- renPat e
- return (PAs (origName n) p)

+ gqn <- renameVar n
+ return (PAs gn p)
renPat e = error $ "renPat: " ++ show e



ZAUZ &> T, gname not found (ZIEB 5B Bo2M, RNE—yxyFREFED Thh Ty (518
M as pattern DFEITIFR LTIV FLARNE S 7Z),
T,



